Order of Operations (A)

Perform the operations in the correct order.

. 624+48+-244+8x1.3+2.4425

—_—

\S]

(((92+2.8)+4.8)x4.4)+-(1.9+38)—-34

W

- ((9.1=7.3) x0.5) + (5,88-6—5.6—3)

432+49.6+4—((9—(63+0.6))+1.5)

N

834555 ((4x(1.5—1.5))x9.4)
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Order of Operations (A) Answers

Perform the operations in the correct order.

1.62+48+24+8x13+2.4+2.5
=23.5

[\

(((92+42.8)+4.8)x4.4)+-(1.9+38)-34
= 18.6

W

(9.1 — 7.3) X 0.5) - (5.88-6—5.6—3)
=0.9

4.3249.6+4—((9—(6.3+0.6)) = 1.5)
=42

9

. 83+55+5—((4x(1.5—1.5)) x9.4)
=94
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Order of Operations (B)

Perform the operations in the correct order.

1L 3.7 % ((((2.6—2.6) x0.6) 3.4) x 1.5)+3.7

L 6.64+82+12+(7.8x10-7.7)"

N

W

. 5.6—1.4495+34—(74—1)—7.9

4. (23+443)+1242449+146.9

5.(27+02)x (1= (5% (1.4—1.3)))—9.7
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Order of Operations (B) Answers

Perform the operations in the correct order.

1 3.7 % (2.6 —2.6) x 0.6) =+ 3.4) x 1.5) +3.7

7 X
3.7

2.6.64+824+12+(7.8x10—-7.7)'
= 86.3

W

5.6—14+495+34—(74—1)—7.9
=2.8

4. (23+43)+-124+244+9+1469
=238

7+02)x (1+=(5%(1.4—1.3)))—9.7
17.3

o
1®)
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Order of Operations (C)

Perform the operations in the correct order.

L (((9.4—0.3) x (2.8 x (4.4—4.4))) x 6) x 6.5

[\

(6484—-34)x1.14+(4.64+52)%x6

W

((8.1—=2.8) 1) x ((0.3 x (8.3—8.3)) =0.5)

4.2x(434+634+2.6+4.8)+69x2

9

6.14+6.8+((0.7+2.6)=6.6) x0.8—1.7
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Order of Operations (C) Answers

Perform the operations in the correct order.

((3.4 —0.3) X (2.8 X (4.4 —4.4))) X 6) X 6.5

—_—
/

2. (6+84—-34)x1.1+(4.6+52)x6
=70.9

s
~/

(8.1—-2.8)=1) % ((0.3 x (8.3 —8.3)) = 0.5)

8
0

N

22X (43+463+2.6+4.8)+6.9x2
=49.8

91

. 6.1+6.8+((0.742.6)+6.6) x0.8—1.7
=11.6
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Order of Operations (D)

Perform the operations in the correct order.

1.53x7-83—(9.84+3.5+1.9—7.1)

. 94+96—-45+10x7.641.4=0.7

\S]

3.73— (67— (47+2)+3.8)+43-25

4.7.949+54+3—(5+8—1.3)

9

02x14+10—(0.4% (8—7))+6.9
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W

N

9,

Order of Operations (D) Answers

. 9449
=025

Perform the operations in the correct order.

~83—(9.843.54+1.9-7.1)

6—-454+10x7.6+1.4+0.7

73— (6.7—(4.7+2)+3.8)+43-25

=35.3

7949+54-3—(5+8—1.3)

=17

02x1410—(04% (8—7))+6.9

=16.7
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Order of Operations (E)

Perform the operations in the correct order.

L (((9.6+6.4)=(2.5%0.6)) x8.5) ~0.2+8.4

[\

(82423)x (1.3+(4.8—4.3)40.6)—7

3.8%x7.3—(4.7+0.5)+5.1+7.8+0.3

4. (9.6— ((3x2.5)x 0.4)) = (2.8—(3-0.3))

5.(3.2+(0.8x2))x (3.3-22)+3.820.4
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Order of Operations (E) Answers

Perform the operations in the correct order.

(((9.6+6.4) = (2.5%0.6)) x8.5) =0.2+ 8.4

=50.9

2. (82+42.3)x (1.3+ (4.8—4.3)+0.6)—7

4.

= 26.6

= 66

=11.7

3—(47+05)+51+7.8+0.3
1

(9.6— ((3x2.5) x 0.4)) = (2.8 — (3—0.3))

3.2+ (0.8x2))x (3.3—-2.2)+3.8+04
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Order of Operations (F)

Perform the operations in the correct order.

1.85+0.1—(7.3+4.7-22)—(9x4.1)

[\

 (8.4+45%x8.8)=((0.1 x8)+(5.6—4.6))

3. (82x ((0.9x5) % (3.2—0.7—2.5))) =24

4.55%(10x1.3—((3.5+0.5—3.8) x 1.5))

5.83—(7+1.4)+22=(3.740.2—3.4)
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Order of Operations (F) Answers

Perform the operations in the correct order.

1.85+0.1—(7.3+4.7-22)—(9x4.1)
—38.3

2. (8.445%8.8)=((0.1x8)=(5.6—4.6))
=65.5

b

ng«09x$x(32—a7—2$»+24

4.55%(10x 1.3—((3.5+0.5—3.8) x 1.5))

p— N

583—(7+1.4)4+22+(3.7+0.2—-3.4)
=7.7
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Order of Operations (G)

Perform the operations in the correct order.

L(((9.1=9.1) = (5% 6.3—0.7)) x 7.4) + 3.3

2. (1.8%5)= (57— (22+12+18))—1

3.04—024((2.845.4)x 1.5) = (8.4=8.4)

4.714+(8—2.4+33+6.1-54)+3.2

9

325014 (7+40.6) x4—(10—9.4)
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Order of Operations (G) Answers

Perform the operations in the correct order.

L«g1—91y+@x63—07»x74y+33

2. (7.8x5)+ (57— (22+12+1.8))—1
=77

W

L 0.4—02+((2.845.4) x 1.5) = (8.4+8.4)
=12.5

4.714(8—2.4+33+6.1—-54)+3.2
=10.1

5.3220.14(7+0.6) x4—(10—9.4)
—61.8

Math-Drills.com




Order of Operations (H)

Perform the operations in the correct order.

1 ((6.1—6.1)+8.8)=0.2+(0.6-0.4) x 9.6

2. (52+1.3)x (4749.34+59-6)—2.6

W

(5.6 (92—-7.1)) = (1.3+2.6) — (1.1 -0.5)

4.754+1.1-0.6—(8.5— (0.2+8.8—5))

5 ((1.3%x((42—-4.2)x7.7)) x (2.6 x9.5)) x 4.5
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Order of Operations (H) Answers

Perform the operations in the correct order.

6.1)+8.8)+0.24 (0.6 0.4) X 9.6

2. (5.2+1.3) % (4.749.34+5.9-6) —2.6
=53

3.(5.6—(9.2—7.1)) = (1.3+2.6)— (1.1+0.5)
= 4.8

4. 7.

5+1.1—0.6—(8.5—(0.2+8.8—5))
3.5

5. ((10.3 X ((42—-4.2)x17.7)) x (2.6 x9.5)) x4.5
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Order of Operations (I)

Perform the operations in the correct order.

2.6+02424+(1.1-03-0.5)—2

—_—

2. (10%9.3—-6.9+3.3)x (3.2— (6.9 —4.2))

W

- (9.5+0.5—((9.122.6)=5)) = (7.1 —5.6)

4. (4%x4.1—(6+0.5+3.7))=(5.9—4.5)

9

(5.14+0.4—5.5) % (3.6+5 x6.8+2.3)
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Order of Operations (I) Answers

Perform the operations in the correct order.

L.2.6+02424+(1.1-03-0.5)—2
—8.8

2. (10x9.3-6.9+3.3) x (3.2— (6.9—4.2))
=44.7

3. 9.152+0.5 —((9.1+2.6)+5)) =+ (7.1-5.6)

4. (4% 4.1—(6+05+3.7))+(5.9—4.5)
=0.5

5.(5.140.4—5.5) x (3.64+5 x 6.84+2.3)
=0
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Order of Operations (J)

Perform the operations in the correct order.

1.6241x(6—(44+44))495-74

2.97—4+4.6+8—((1+0.2)x1.2)

3.6.5%(9.64+1.4+0.5)+33+1x10

4.094+75+8.6+554+99x (4x0.5)

9

. 3.5+46.5—(7.6—3.8)— (0.7 (1.5-0.1))
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N

Order of Operations (J) Answers

Perform the operations in the correct order.

624+ 1% (6—(4.4+4.4))+9.5-7.4
=13.3

1 9.7—4+46+8—((1+0.2)x1.2)
=12.3

. 6.

5% (
93.9

9.6+14-+05)+33+1x10

L 0.94+7.5+86+55+9.9x% (4x0.5)
=423

3.

5
5.

+
7

6.5—(7.6—3.8)—(0.7=(1.5-0.1))
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